Level: Year 8

Approach: Independent

Resources: None

% responses
Question/instructions 8
1. 075+5= 575 49
2. 0.8+9= 9.8 49
3. 5+03+11+24+028= 18.98 30
4. 0.8-03= 5 66
S. 6-04= 5.6 41
6. 643 -9.62= 54.68 21
Commentary

7.
8.
9.

10.
11.
12.
13.

5x0.5=
0.6x0.7=
53x22=
0.8+2=
6+0.5=
2502 =
182 +4=

25
42
11.66
4

12
1.35
4.55

% responses
)8
49

36
19
61
16
38
15

Only 13 percent of the year 8 students correctly answered at least 10 of the 13 items. A high proportion of

the students could not calculate accurately using decimals.



